Sampling Theorem Associated with Dirac System of the Hahn Difference Operator^{*}

Fatma Hıra[†]

Received 10 March 2019

Abstract

The sampling theory and its applications and extensions have been the subject of intensive research, both by mathematicians and by communication engineers. In this paper, we give an extension of this sampling theory to the Hahn difference operator. In other words, we state and prove the sampling theorem associated with q, ω -Dirac system. As a special case, we give two examples.

1 Introduction

The sampling theory showed up in communication systems and signal processing. Shannon [22] was the first who introduced the sampling theorem to information theory, but the basis for the theorem was laid by several others. Whittaker [27] studied the problem of finding an analytic expression of a function, whose values are known. In the Russian literature an equivalent statement was given by Kotelnikov [20]. Therefore the sampling theorem is sometimes referred as the WKS sampling theorem. This WKS sampling theorem states that if $f \in PW_{\pi}(\mathbb{R})$, which is known as the Paley-Wiener space, then f can be determined from its values at the integers via the sampling series

$$f\left(t\right)=\sum_{n=-\infty}^{\infty}f\left(n\right)\frac{\sin\pi\left(t-n\right)}{\pi\left(t-n\right)},\ t\in\mathbb{C}.$$

This series is absolutely and uniformly convergent on compact subsets of \mathbb{C} , uniformly convergent on \mathbb{R} , (see [10, 11, 18, 28]).

This theorem has been extended in many different ways. Sampling theory associated with boundary value problems was first observed by Weiss in [26] and outlined in general terms by Kramer in [21]. But a more systematic approach to this subject was first introduced by Zayed et al. in [29]. Since then, many authors have studied on sampling theory associated with discontinuous Sturm-Liouville problems [5, 16, 17, 23], and Dirac systems [1, 24, 25]. In recent years, these results have been extended to several types of difference operators, like the q-difference operators [2, 3, 4, 9, 14, 19], and the q, ω -Hahn difference operators [8]. In this paper, we present another example of extending the q, ω -Hahn difference operators. That is, we derive sampling theory associated with q, ω -Dirac system defined below. Finally, as a special case, we give two examples showing sampling formula. Consider the q, ω -Dirac system

$$\begin{cases} -\frac{1}{q} D_{\frac{1}{q}, \frac{-\omega}{q}} y_2 + p(t) y_1 = \lambda y_1, \\ D_{q,\omega} y_1 + r(t) y_2 = \lambda y_2, \end{cases}$$
(1)

with the boundary conditions

$$B_1(y) := k_{11}y_1(\omega_0) + k_{12}y_2(\omega_0) = 0,$$
(2)

$$B_{2}(y) := k_{21}y_{1}(a) + k_{22}y_{2}(h^{-1}(a)) = 0,$$
(3)

^{*}Mathematics Subject Classifications: 94A20, 33D15, 35Q41, 34L20.

[†]Department of Mathematics, Faculty of Arts and Science, Ondokuz Mayıs University, Samsun, 55139, Turkey

where $\omega_0 \leq t \leq a < \infty$, k_{ij} (i, j = 1, 2) are real numbers, $\lambda \in \mathbb{C}$, p(.) and r(.) are real-valued continuous functions and h(t) is a function defined below. Here $D_{q,\omega}$ is the Hahn difference operator which is defined by

$$D_{q,\omega}f(t) := \begin{cases} \frac{f(qt+\omega) - f(t)}{(qt+\omega) - t}, & t \neq \omega_0, \\ f'(\omega_0), & t = \omega_0, \end{cases}$$

where $q \in (0, 1)$, $\omega > 0$ are fixed and $\omega_0 := \omega/(1-q)$, (see [12, 13]). This is valid if f is differentiable at ω_0 . The function f needs to be defined on I; an interval of \mathbb{R} containing ω_0 . The q, ω -Dirac system (1)-(3) was introduced in [15]. The author investigated the existence and uniqueness of solutions and also obtained some spectral properties such as the eigenvalues $\{\lambda_n\}_{n=-\infty}^{\infty}$ are real and simple, the eigenfunctions that belong to different eigenvalues are orthogonal. The function h is defined by

$$h(t) := qt + \omega, t \in I.$$

The kth order iteration of h(t) is given by

$$h^{k}(t) = q^{k}t + \omega \left[k\right]_{a}, \ t \in I,$$

where the sequence $h^{k}(t)$ is uniformly convergent to ω_{0} on I and

$$[k]_q = \frac{1 - q^k}{1 - q},$$

are the q-numbers.

There exists the following relation between $D_{q,\omega}$ and its adjoint operator

$$(D_{q,\omega}f)\left(h^{-1}\left(t\right)\right) = D_{\frac{1}{q},\frac{-\omega}{q}}f\left(t\right).$$

The q, ω -type product formula is given by

$$D_{q,\omega}(fg)(t) = D_{q,\omega}(f(t))g(t) + f(qt+\omega)D_{q,\omega}g(t).$$

The q, ω -integral is introduced in [6] to be the Jackson-Nörlund sum

$$\int_{a}^{b} f(t) d_{q,\omega}t = \int_{\omega_{0}}^{b} f(t) d_{q,\omega}t - \int_{\omega_{0}}^{a} f(t) d_{q,\omega}t,$$

where $\omega_0 < a < b, a, b \in I$, and

$$\int_{\omega_0}^x f(t) d_{q,\omega} t = \left(x \left(1 - q \right) - \omega \right) \sum_{k=0}^\infty q^k f\left(x q^k + \omega \left[k \right]_q \right), \ x \in I,$$

provided that the series converges. The fundamental theorem of q, ω - calculus given in [6] states that if $f: I \to \mathbb{R}$ is continuous at ω_0 , and

$$F(t) := \int_{\omega_0}^t f(x) d_{q,\omega} x, \ x \in I,$$

then F is continuous at ω_0 . Furthermore, $D_{q,\omega}F(t)$ exists for every $t \in I$ and

$$D_{q,\omega}F\left(t\right) = f\left(t\right).$$

Conversely,

$$\int_{a}^{b} D_{q,\omega}f(t) d_{q,\omega}t = f(b) - f(a), \text{ for all } a, b \in I.$$

The q, ω -integration by parts for continuous functions f, g is given by

$$\int_{a}^{b} f(t) D_{q,\omega}g(t) d_{q,\omega}t = f(t) g(t) \Big|_{a}^{b} - \int_{a}^{b} D_{q,\omega} (f(t)) g(qt+\omega) d_{q,\omega}t, \ a, b \in I.$$

Trigonometric functions of q, ω -cosine and sine are defined by

$$C_{q,\omega}(t,\mu) := \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2} \left(\mu \left(t \left(1-q\right)-\omega\right)\right)^{2n}}{(q;q)_{2n}}, \ t \in \mathbb{C},$$
$$S_{q,\omega}(t,\mu) := \sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n+1)} \left(\mu \left(t \left(1-q\right)-\omega\right)\right)^{2n+1}}{(q;q)_{2n+1}}, \ t \in \mathbb{C}.$$

Here $(q;q)_k$ is the q-shifted factorial

$$(q;q)_k := \begin{cases} 1, & k = 0, \\ \prod_{j=1}^k (1-q^j), & k = 1, 2, \dots \end{cases}$$

Furthermore, these functions have real and simple zeros $\{\pm x_n\}_{n=1}^{\infty}$ and $\{\pm y_n\}_{n=1}^{\infty}$, respectively,

$$x_n = \omega_0 + q^{-n+1/2} (1-q)^{-1} (1+O(q^n))$$
$$y_n = \omega_0 + q^{-n} (1-q)^{-1} (1+O(q^n)),$$

where $n \ge 1$, see [7]. Let $C_{q,\omega}^2(\omega_0, a)$ be the subspace of $L_{q,\omega}^2(\omega_0, a)$, which consists of all functions y(.) for which y(.) and $D_{q,\omega}y(.)$ are continuous at ω_0 . Let $H_{q,\omega}$ be the Hilbert space

$$H_{q,\omega} := \left\{ y\left(.\right) = \left(\begin{array}{c} y_{1}\left(.\right) \\ y_{2}\left(.\right) \end{array}\right), \ y_{1}, y_{2} \in C_{q,\omega}^{2}\left(\omega_{0},a\right) \right\}.$$

The inner product of $H_{q,\omega}$ is defined by

$$\langle y(.), z(.) \rangle := \int_{\omega_0}^a y^\top(t) \overline{z(t)} d_{q,\omega} t,$$

where \top denotes the matrix transpose. Let

$$y\left(.\right) = \left(\begin{array}{c} y_{1}\left(.\right) \\ y_{2}\left(.\right) \end{array}\right), \quad z\left(.\right) = \left(\begin{array}{c} z_{1}\left(.\right) \\ z_{2}\left(.\right) \end{array}\right) \in H_{q,\omega}.$$

Then the q, ω -Wronskian of these functions is defined by

$$W(y,z)(t) := y_1(t) z_2(h^{-1}(t)) - z_1(t) y_2(h^{-1}(t)).$$
(4)

Let

$$y_1(t,\lambda_1) = \begin{pmatrix} y_{11}(t,\lambda_1) \\ y_{12}(t,\lambda_1) \end{pmatrix} \text{ and } y_2(t,\lambda_2) = \begin{pmatrix} y_{21}(t,\lambda_2) \\ y_{22}(t,\lambda_2) \end{pmatrix}$$

be two solutions of (1): hence

$$\begin{cases} -\frac{1}{q} D_{\frac{1}{q}, \frac{-\omega}{q}} y_{12} + \{p(t) - \lambda_1\} y_{11} = 0, \\ D_{q,\omega} y_{11} + \{r(t) - \lambda_1\} y_{12} = 0, \end{cases}$$
(5)

and

$$\begin{cases} -\frac{1}{q} D_{\frac{1}{q}, \frac{-\omega}{q}} y_{22} + \{p(t) - \lambda_2\} y_{21} = 0, \\ D_{q,\omega} y_{21} + \{r(t) - \lambda_2\} y_{22} = 0. \end{cases}$$
(6)

Multiplying (5) by y_{21} and y_{22} and (6) by $-y_{11}$ and $-y_{22}$, respectively, and adding together, we have

$$D_{q,\omega} \left\{ y_{11}(t,\lambda_1) y_{22}(h^{-1}(t),\lambda_2) - y_{12}(h^{-1}(t),\lambda_1) y_{21}(t,\lambda_2) \right\}$$

= $(\lambda_1 - \lambda_2) \left\{ y_{11}(t,\lambda_1) y_{21}(t,\lambda_2) + y_{12}(t,\lambda_1) y_{22}(t,\lambda_2) \right\}.$ (7)

Let us consider the q, ω -Dirac equation (1) together with the following initial conditions

$$y_1(\omega_0,\lambda) = k_{12}, \quad y_2(\omega_0,\lambda) = -k_{11}.$$
 (8)

By virtue of Theorem 2.3 in [15], this problem has a unique solution $\phi(t, \lambda) = \begin{pmatrix} \phi_1(t, \lambda) \\ \phi_2(t, \lambda) \end{pmatrix}$. It is obvious that $\phi(t, \lambda)$ satisfies the boundary condition (2) and this function is uniformly bounded on the subsets of the form $[\omega_0, a] \times \Omega$ where $\Omega \subset \mathbb{C}$ is compact set. To find the eigenvalues of the q, ω -Dirac system (1)–(3) we have to insert this function into the boundary condition (3) and find the roots of the obtained equation. So, putting the function $\phi(t, \lambda)$ into the boundary condition (3) we get the following equation whose zeros are the eigenvalues which are all real and simple (see [15])

$$\Delta(\lambda) = -k_{21}\phi_1(a,\lambda) - k_{22}\phi_2(h^{-1}(a),\lambda).$$
(9)

It is also known that if $\{\phi_n(.)\}_{n=-\infty}^{\infty}$ denotes a set of vector-valued eigenfunctions corresponding $\{\lambda_n\}_{n=-\infty}^{\infty}$, then $\{\phi_n(.)\}_{n=-\infty}^{\infty}$ is a complete orthogonal set of $H_{q,\omega}$. Since the eigenvalues are real, we can take the eigenfunctions to be real vector-valued.

2 The Sampling Theory

In this section, we state and prove q, ω -analogue of sampling theorem associated with q, ω -Dirac system (1)–(3).

Theorem 1 Let
$$g(t) = \begin{pmatrix} g_1(t) \\ g_2(t) \end{pmatrix} \in H_{q,\omega}$$
 and $F(\lambda)$ be the q, ω -type transform

$$F(\lambda) = \int_{\omega_0}^{a} g^{\top}(t) \phi(t, \lambda) d_{q,\omega}t, \quad \lambda \in \mathbb{C},$$
(10)

where $\phi(t, \lambda)$ is the solution defined above. Then $F(\lambda)$ can be reconstructed using its values at the points $\{\lambda_n\}_{n=-\infty}^{\infty}$ by means of the sampling form

$$F(\lambda) = \sum_{n=-\infty}^{\infty} F(\lambda_n) \frac{\Delta(\lambda)}{(\lambda - \lambda_n) \Delta'(\lambda_n)},$$
(11)

where $\Delta(\lambda)$ is defined in (9). The sampling series (11) converges absolutely on \mathbb{C} and uniformly on compact subsets of \mathbb{C} .

F. Hıra

Proof. Since $\phi(t, \lambda)$ is in $H_{q,\omega}$ for any λ , we have

$$\phi(t,\lambda) = \sum_{n=-\infty}^{\infty} \widehat{\phi}_n \frac{\phi_n(t)}{\|\phi_n\|^2},$$

where

$$\widehat{\phi}_{n} = \int_{\omega_{0}}^{a} \phi^{\top}(t,\lambda) \phi_{n}(t) d_{q,\omega}t$$

$$= \int_{\omega_{0}}^{a} \left\{ \phi_{1}(t,\lambda) \phi_{n,1}(t) + \phi_{2}(t,\lambda) \phi_{n,2}(t) \right\} d_{q,\omega}t, \qquad (12)$$

 $\phi_{n}^{\top}(t) = (\phi_{n,1}(t), \phi_{n,2}(t))$ is the vector-valued eigenfunction corresponding to the eigenvalue λ_{n} and

$$\|\phi_{n}\|^{2} = \int_{\omega_{0}}^{a} \phi_{n}^{\top}(t) \phi_{n}(t) d_{q,\omega}t = \int_{\omega_{0}}^{a} \left(\phi_{n,1}^{2}(t) + \phi_{n,2}^{2}(t)\right) d_{q,\omega}t.$$

Since g is in $H_{q,\omega}$, it has the Fourier expansion

$$g(t) = \sum_{n = -\infty}^{\infty} \widehat{g}_n \frac{\phi_n(t)}{\|\phi_n\|^2},$$

where

$$\widehat{g}_{n} = \int_{\omega_{0}}^{a} g^{\top}(t) \phi_{n}(t) d_{q,\omega}t = \int_{\omega_{0}}^{a} \left\{ g_{1}(t) \phi_{n,1}(t) + g_{2}(t) \phi_{n,2}(t) \right\} d_{q,\omega}t.$$

By Parseval's equality, (10) turns out to be

$$F(\lambda) = \sum_{n=-\infty}^{\infty} F(\lambda_n) \frac{\widehat{\phi}_n}{\|\phi_n\|^2}.$$
(13)

Let $\lambda \in \mathbb{C}$, $\lambda \neq \lambda_n$ and $n \in \mathbb{N}$ be fixed. From relation (7), with $y_{11}(t, \lambda_1) = \phi_1(t, \lambda)$, $y_{12}(t, \lambda_1) = \phi_2(t, \lambda)$ and $y_{21}(t, \lambda_2) = \phi_{n,1}(t)$, $y_{22}(t, \lambda_2) = \phi_{n,2}(x)$, we obtain

$$(\lambda - \lambda_n) \int_{\omega_0}^{a} \left\{ \phi_1(t,\lambda) \phi_{n,1}(t) + \phi_2(t,\lambda) \phi_{n,2}(t) \right\} d_{q,\omega} t$$
$$= W(\phi,\phi_n)(t)|_{t=a} - W(\phi,\phi_n)(t)|_{x=\omega_0}.$$

Since $\phi(.,\lambda)$ and $\phi_n(.)$ satisfy the same initial conditions (8) and from (4), we have

$$(\lambda - \lambda_{n}) \int_{\omega_{0}}^{a} \left\{ \phi_{1}(t,\lambda) \phi_{n,1}(t) + \phi_{2}(t,\lambda) \phi_{n,2}(t) \right\} d_{q,\omega} t$$

= $\phi_{1}(a,\lambda) \phi_{n,2}(h^{-1}(a)) - \phi_{n,1}(a) \phi_{2}(h^{-1}(a),\lambda).$ (14)

Assume that $k_{22} \neq 0$. Since $\phi_n(.)$ is an eigenfunction, then it satisfies (3). Hence

$$\phi_{n,2}\left(h^{-1}\left(a\right)\right) = -\frac{k_{21}}{k_{22}}\phi_{n,1}\left(a\right).$$
(15)

Substituting from (15) in (14), we obtain

$$(\lambda - \lambda_{n}) \int_{\omega_{0}}^{a} \left\{ \phi_{1}(t,\lambda) \phi_{n,1}(t) + \phi_{2}(t,\lambda) \phi_{n,2}(t) \right\} d_{q,\omega} t$$

= $-\phi_{n,1}(a) \left\{ \frac{k_{21}}{k_{22}} \phi_{1}(a,\lambda) + \phi_{2}(h^{-1}(a),\lambda) \right\} = \frac{\Delta(\lambda) \phi_{n,1}(a)}{k_{22}}$ (16)

provided that $k_{22} \neq 0$. Similarly, we can show that

$$(\lambda - \lambda_n) \int_{\omega_0}^{a} \left\{ \phi_1(t,\lambda) \,\phi_{n,1}(t) + \phi_2(t,\lambda) \,\phi_{n,2}(t) \right\} d_{q,\omega} t = \frac{\Delta(\lambda) \,\phi_{n,2}\left(h^{-1}(a)\right)}{k_{21}} \tag{17}$$

provided that $k_{21} \neq 0$. Differentiating with respect to λ and taking the limit as $\lambda \to \lambda_n$, we obtain

$$\|\phi_{n}\|^{2} = \int_{\omega_{0}}^{a} \phi_{n}^{\top}(t) \phi_{n}(t) d_{q,\omega}t = \frac{\Delta'(\lambda_{n}) \phi_{n,1}(a)}{k_{22}},$$
(18)

and

$$\|\phi_{n}\|^{2} = \int_{\omega_{0}}^{a} \phi_{n}^{\top}(t) \phi_{n}(t) d_{q,\omega}t = \frac{\Delta'(\lambda_{n}) \phi_{n,2}(h^{-1}(a))}{k_{21}}.$$
(19)

From (12), (16) and (18), we have for $k_{22} \neq 0$,

$$\frac{\widehat{\phi}_n}{\|\phi_n\|^2} = \frac{\Delta\left(\lambda\right)}{\left(\lambda - \lambda_n\right)\Delta'\left(\lambda_n\right)},\tag{20}$$

and if $k_{21} \neq 0$, we use (12), (17) and (19) to obtain the same result. Therefore from (13) and (20) we get (11) when λ is not an eigenvalue. Now we investigate the convergence of (11). Using Cauchy-Schwarz inequality for $\lambda \in \mathbb{C}$.

$$\sum_{n=-\infty}^{\infty} \left| F(\lambda_n) \frac{\Delta(\lambda)}{(\lambda - \lambda_n) \Delta'(\lambda_n)} \right|$$

=
$$\sum_{n=-\infty}^{\infty} \left| \widehat{g}_n \frac{\widehat{\phi}_n}{\|\phi_n\|^2} \right|$$

$$\leq \left(\sum_{n=-\infty}^{\infty} \left| \frac{\widehat{g}_n}{\|\phi_n\|} \right|^2 \right)^{1/2} \left(\sum_{n=-\infty}^{\infty} \left| \frac{\widehat{\phi}_n}{\|\phi_n\|} \right|^2 \right)^{1/2} < \infty,$$

since g(.), $\phi(.,\lambda) \in H_{q,\omega}$. Thus (11) converge absolutely on \mathbb{C} . As for uniform convergence on Ω where Ω is a compact subsets of \mathbb{C} . Using Cauchy-Schwarz' inequality, we obtain that for $\lambda \in \Omega$,

$$\Gamma_{N}(\lambda) = \left| F(\lambda) - \sum_{n=-N}^{N} F(\lambda_{n}) \frac{\Delta(\lambda)}{(\lambda - \lambda_{n}) \Delta'(\lambda_{n})} \right|$$

$$\leq \left(\sum_{n=-N}^{N} \frac{|\widehat{g}_{n}|^{2}}{\|\phi_{n}\|^{2}} \right)^{1/2} \left(\sum_{n=-N}^{N} \frac{|\widehat{\phi}_{n}|^{2}}{\|\phi_{n}\|^{2}} \right)^{1/2}.$$

120

F. Hıra

In view of Bessel's inequality

$$\sum_{n=-N}^{N} \frac{\left|\widehat{\phi}_{n}\right|^{2}}{\left\|\phi_{n}\right\|^{2}} \leq \left\|\phi\left(.,\lambda\right)\right\|^{2}$$

Since the function $\phi(.,\lambda)$ is uniformly bounded on the subsets of \mathbb{C} , we can find a positive constant C_{Ω} which is independent of λ such that $\|\phi(.,\lambda)\| \leq C_{\Omega}, \lambda \in \Omega$. Thus

$$\Gamma_N(\lambda) \le C_\Omega \left(\sum_{n=-N}^N \frac{|\widehat{g}_n|^2}{\|\phi_n\|^2}\right)^{1/2} \to 0 \text{ as } N \to \infty.$$

Hence (11) converges uniformly on compact subsets of \mathbb{C} , thus the proof is complete.

3 Examples

Example 1 Consider q, ω -Dirac system (1)-(3) in which p(t) = 0 = r(t):

$$\begin{cases} -\frac{1}{q} D_{\frac{1}{q}, \frac{-\omega}{q}} y_2 = \lambda y_1, \\ D_{q,\omega} y_1 = \lambda y_2, \end{cases}$$
(21)

$$y_1(\omega_0) = 0,$$
 (22)

$$y_2(h^{-1}(\pi)) = 0.$$
 (23)

It is easy to see that a solution of (21) and (22) is given by

$$\phi^{\mathsf{T}}(t,\lambda) = \left(-S_{q,\omega}(t,\lambda), -C_{q,\omega}(t,\sqrt{q}\lambda)\right).$$

By substituting this solution into (23), we obtain $\Delta(\lambda) = C_{q,\omega}(h^{-1}(\pi), \sqrt{q\lambda})$, hence, the eigenvalues are $\lambda_n = \frac{q^{-n+1}}{(1-q)(\pi-\omega_0)}(1+O(q^n))$. Applying Theorem 1, the q, ω -transforms

$$F(\lambda) = \int_{\omega_0}^{\pi} \left\{ g_1(t) S_{q,\omega}(t,\lambda) + g_2(t) C_{q,\omega}(t,\sqrt{q\lambda}) \right\} d_{q,\omega} t$$

for some $g_1, g_2 \in C_q^2(\omega_0, \pi)$, then it has the sampling formula

$$F(\lambda) = \sum_{n=-\infty}^{\infty} F(\lambda_n) \frac{C_{q,\omega} \left(h^{-1}(\pi), \sqrt{q}\lambda\right)}{\sqrt{q} \left(\lambda - \lambda_n\right) C'_{q,\omega} \left(h^{-1}(\pi), \sqrt{q}\lambda_n\right)},$$

where $C'_{q,\omega}\left(h^{-1}\left(\pi\right),\sqrt{q\lambda_{n}}\right) = \left(\frac{d}{d\lambda}C_{q,\omega}\left(h^{-1}\left(\pi\right),\sqrt{q\lambda}\right)\right)\Big|_{\lambda=\lambda_{n}}$.

Example 2 Consider q, ω -Dirac equation (21) together with the following boundary conditions

$$y_2(\omega_0) = 0,$$
$$y_2(h^{-1}(\pi)) = 0.$$

In this case $\phi^{\intercal}(t,\lambda) = (C_{q,\omega}(t,\lambda), -\sqrt{q}S_{q,\omega}(t,\sqrt{q}\lambda))$. Since $\Delta(\lambda) = \sqrt{q}S_{q,\omega}(h^{-1}(\pi),\sqrt{q}\lambda)$, then the eigenvalues are given by $\lambda_n = \frac{q^{-n+1/2}}{(1-q)(\pi-\omega_0)}(1+O(q^n))$. Applying Theorem 1 above to the q,ω -transform

$$F(\lambda) = \int_{\omega_0}^{\pi} \left\{ g_1(t) C_{q,\omega}(t,\lambda) - g_2(t) \sqrt{q} S_{q,\omega}(t,\sqrt{q}\lambda) \right\} d_{q,\omega}t,$$
(55)

for some $g_1, g_2 \in C^2_q(\omega_0, \pi)$, then we obtain

$$F(\lambda) = \sum_{n=-\infty}^{\infty} F(\lambda_n) \frac{S_{q,\omega} \left(h^{-1}(\pi), \sqrt{q\lambda}\right)}{\sqrt{q} \left(\lambda - \lambda_n\right) S'_{q,\omega} \left(h^{-1}(\pi), \sqrt{q\lambda_n}\right)},\tag{56}$$

where

$$S_{q,\omega}'\left(h^{-1}\left(\pi\right),\sqrt{q\lambda_{n}}\right)=\left.\left(\frac{d}{d\lambda}S_{q,\omega}\left(h^{-1}\left(\pi\right),\sqrt{q\lambda}\right)\right)\right|_{\lambda=\lambda_{n}}$$

References

- M. Z. Abd-Alla and M. H. Annaby, Sampling of vector-valued transforms associated with Green's matrix of Dirac systems, J. Math. Anal. Appl., 284(2003), 104–117.
- [2] L. D. Abreu, Sampling theory associated with q-difference equations of Sturm-Liouville type, J. Phys. A, 38(2005), 10311–10319.
- [3] M. H. Annaby, q-Type sampling theorems, Results Math., 44(2003), 214–225.
- [4] M. H. Annaby, J. Bustoz and M. E. H. Ismail, On sampling theory and basic Sturm-Liouville systems, J. Comput. Appl. Math., 206(2007), 73–85.
- [5] M. H. Annaby, G. Freiling and A. I. Zayed, Discontinuous boundary-value problems: Expansion and sampling theorems, J. Integral Equations Appl., 16(2004), 1–23.
- [6] M. H. Annaby, A. E. Hamza and K. A. Aldwoah, Hahn difference operator and associated Jackson-Nörlund integrals, J. Optim. Theory Appl., 154(2012), 133–153.
- [7] M. H. Annaby, A. E. Hamza and S. D. Makharesh, A Sturm-Liouville theory for Hahn difference Operator, In:Frontiers of Orthogonal Polynomials and q-Series, Xin Li and Zuhair Nashed, (eds), World Scientific, Singapore, 2018, 35–84.
- [8] M. H. Annaby and H. A. Hassan, Sampling theorems for Jackson-Nörlund transforms associated with Hahn-difference operators, J. Math. Anal. Appl., 464(2018), 493–506.
- [9] M. H. Annaby, H. A. Hassan and Z. S. Mansour, Sampling theorems associated with singular q-Sturm-Liouville problems, Results. Math., 62(2012), 121–136.
- [10] P. L. Butzer, J. R. Higgins and R. L. Stens, Classical and approximate sampling theorems, studies in the $L^p(\mathbb{R})$ and the uniform norm, J. Approx. Theory, 137(2005), 250–263.
- [11] P. L. Butzer, G. Schmeisser and R. L. Stens, An introduction to sampling analysis, In: F. Marvasti (Ed.), Nonuniform Sampling, Theory and Practice, Kluwer, New York, 2001, 17–121.
- [12] W. Hahn, Über orthogonalpolynome, die q-differenzenlgleichungen genügen, Math. Nachr., 2(1949), 4–34.
- [13] W. Hahn, Ein Beitrag zur theorie der orthogonalpolynome, Monatsh. Math., 95(1983), 19–24.

- [14] F. Hıra, Sampling theorem associated with q-Dirac system, J. Math. Comput. Sci., 9(2019), 182–193.
- [15] F. Hıra, Dirac system associated with Hahn difference operator, Bull. Malays. Math. Sci. Soc. (2020), doi: 10.1007/s40840-019-00877-8.
- [16] F. Hıra and N. Altınışık, Sampling theorems for Sturm-Liouville problem with moving discontinuity points, Bound. Value Probl., 2014(2014), 1–15.
- [17] F. Hıra and N. Altınışık, Sampling theory for Sturm-Liouville problem with boundary and transmission conditions containing an eigenparameter, Z. Angew. Math. Phys., 66(2015), 1737–1749.
- [18] J. R. Higgins, Sampling Theory in Fourier and Signal Analysis: Foundations, Oxford University Press, Oxford, 1996.
- [19] M. E. Ismail and A. I. Zayed, A q-analogue of the Whittaker-Shannon-Kotel'nikov sampling theorem, Proc. Amer. Math. Soc., 131(2003), 3711–3719.
- [20] V. Kotel'nikov, On the Carrying Capacity of the Ether and Wire in Telecommunications, Material for the First All Union Conference on Questions of Communications (Russian), Izd. Red. Upr. Svyazi RKKA, Moscow, 1933.
- [21] H. P. Kramer, A generalized sampling theorem, J. Math. Phys., 38(1959), 68–72.
- [22] C. E. Shannon, Communications in the presence of nois, Proc. IRE, 37(1949), 10–21.
- [23] M. M. Tharwat, Discontinuous Sturm-Liouville problems and associated sampling theories, Abstr. Appl. Anal., 2011(2011), 1–30.
- [24] M. M. Tharwat, On sampling theories and discontinuous Dirac systems with eigenparameter in the boundary conditions, Bound. Value Probl., 2013(2013), 1–24.
- [25] M. M. Tharwat, A. Yıldırım and A. H. Bhrawy, Sampling of discontinuous Dirac system, Numer. Funct. Anal. Optim., 34(2013), 323–348.
- [26] P. Weiss, Sampling theorems associated with Sturm-Liouville systems, Bull. Amer. Math. Soc., 63(1957), 242.
- [27] E. T. Whittaker, On the functions which are represented by the expansion of the interpolation theory, Proc. Roy. Soc. Edinburgh Sect. A., 35(1915), 181–194.
- [28] A. I. Zayed, Advances in Shannon's Sampling Theory, CRC Press, Boca Raton, 1993.
- [29] A. I. Zayed, G. Hinsen and P. L. Butzer, On Lagrange interpolation and Kramer-type sampling theorems associated with Sturm-Liouville problems, SIAM J. Appl. Math., 50(1990), 893–909.